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TRRILBLAZER

Observa the ride from the frant of the rida. Sketch the path
followed by a person sitting where you sat. What is the shape of the path”?

Where would a parson have to sit in order for their path to be a circle?
Tha Trailklazer holds either 60 children or 40 aduits or & combination of the two. The
rlde tself is 35 ft. wide. There are 2 aisles that are about 3 ft. wide. Calculate the

amount of space allatied for each adult and child. {Round to the nearest whole
numbar}.

The length of the ride is 23 minutes. Ifit takes ancther 3 minuats to load and unload
passengers, which is the maximum numbaer of adults that could ride in gne hour?

What is the maximum numbar of children that could ride in ane hour?

There are 32 adults on tha ride. How many childran will ba able to Ade?

Thera are 25 childran on the ride. How many adults will be able to ride™”

Thara are 50 people on the ride. How many adults and children are on the ride?

Observe the ride fram the front of the Hde. Skeich tha path followed by a person sitting
whara you sat. Is the path a parfact circle? Why or why not?

Brisfly describe, compare and contrast the sensations felt at the fellowlng pelnts on the
ride whan the ride is at full speed. Ara ths sensatlons in any way explained by the
accelerometer readings?
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TRAILBLAZER

10. What is the directlon of each of tha accalerations above?

11.  Consider the positions described above. When the ride is going "full spsed”, at what

point:
a. Are you going fastest? b. Arae you goeing slowest?
¢. Da you feal heaviest? d. Do you fesl the lightast?

12.  Ara your answers for 4 ¢ and d consistent with your accelerometer readings?




